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Cuadro 6 (continuación 3)/Table 6 (continued 3)
Colombia: tablas abreviadas de mortalidada

 Colombia: abridged life tables 
a

1980

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.058 0.055  100 000  5 503  95 627 0.937 b 6 272 353 62.7
1 4 0.006 0.022  94 497  2 067  373 053 0.983 c 6 176 726 65.4
5 5 0.001 0.006  92 430   590  460 674 0.994 5 803 673 62.8

10 5 0.001 0.005  91 840   426  458 134 0.993 5 342 998 58.2
15 5 0.002 0.010  91 414   890  454 845 0.986 4 884 864 53.4
20 5 0.004 0.018  90 524  1 640  448 520 0.980 4 430 019 48.9
25 5 0.004 0.021  88 884  1 910  439 645 0.978 3 981 499 44.8
30 5 0.004 0.022  86 974  1 896  430 130 0.977 3 541 854 40.7
35 5 0.005 0.023  85 078  1 980  420 439 0.975 3 111 725 36.6
40 5 0.005 0.027  83 098  2 216  409 949 0.969 2 691 285 32.4
45 5 0.007 0.036  80 882  2 921  397 108 0.958 2 281 336 28.2
50 5 0.010 0.049  77 961  3 802  380 300 0.938 1 884 229 24.2
55 5 0.016 0.077  74 159  5 690  356 570 0.907 1 503 928 20.3
60 5 0.023 0.111  68 469  7 570  323 420 0.860 1 147 358 16.8
65 5 0.038 0.173  60 899  10 508  278 223 0.796  823 938 13.5
70 5 0.055 0.242  50 390  12 219  221 404 0.711  545 715 10.8
75 5 0.085 0.350  38 171  13 361  157 453 0.602  324 311 8.5
80 5 0.125 0.473  24 810  11 725  94 738 0.491  166 858 6.7
85 5 0.166 0.577  13 085  7 546  46 560 0.396  72 119 5.5
90 5 0.212 0.670  5 539  3 709  18 422 0.311  25 559 4.6
95 5 0.263 0.749  1 830  1 370  5 723 0.198 d  7 137 3.9

100 ω 0.325 1.000   460   460  1 413  1 413 3.1
Mujeres/Females

0 1 0.046 0.044  100 000  4 442  96 396 0.948 b 6 822 539 68.2
1 4 0.005 0.021  95 558  1 976  377 446 0.985 c 6 726 143 70.4
5 5 0.001 0.005  93 582   439  466 814 0.996 6 348 698 67.8

10 5 0.001 0.003  93 143   265  465 054 0.996 5 881 884 63.1
15 5 0.001 0.005  92 878   443  463 285 0.994 5 416 830 58.3
20 5 0.001 0.006  92 436   594  460 692 0.993 4 953 545 53.6
25 5 0.001 0.007  91 841   673  457 524 0.992 4 492 853 48.9
30 5 0.002 0.010  91 169   876  453 653 0.989 4 035 328 44.3
35 5 0.003 0.013  90 293  1 167  448 546 0.984 3 581 675 39.7
40 5 0.004 0.018  89 126  1 626  441 564 0.978 3 133 129 35.2
45 5 0.005 0.025  87 500  2 188  432 028 0.969 2 691 565 30.8
50 5 0.008 0.037  85 312  3 161  418 655 0.953 2 259 537 26.5
55 5 0.012 0.057  82 151  4 677  399 061 0.930 1 840 882 22.4
60 5 0.017 0.083  77 474  6 441  371 267 0.894 1 441 821 18.6
65 5 0.028 0.132  71 033  9 372  331 734 0.839 1 070 554 15.1
70 5 0.043 0.195  61 661  12 011  278 278 0.758  738 820 12.0
75 5 0.070 0.300  49 650  14 900  211 001 0.648  460 542 9.3
80 5 0.109 0.427  34 750  14 833  136 667 0.525  249 541 7.2
85 5 0.159 0.559  19 917  11 135  71 747 0.409  112 875 5.7
90 5 0.208 0.662  8 782  5 813  29 378 0.318  41 127 4.7
95 5 0.257 0.742  2 969  2 201  9 341 0.205 d  11 750 4.0

100 ω 0.319 1.000   767   767  2 409  2 409 3.1

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


